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TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE O R 2 1 146, 889, 351
EHET = 1 4,510, 337
A T Y 1 168, 434 | #EH 530 m3
+4)
AR LT Y 1 113,580 | B&{A (BEER) BE 1= 20 m3
2. bmATH ;
EHEER T Y 1 461, 048 | {EMEEEIE (G)L56) 560 m2
+4)
AL T =Y 1 3,767, 275
EE T Y 1 85, 129, 166
71 = 1 85,129, 166 | 153 EHx 75 ¥
Toh-TAEVE (Th-) 1 =
157 79/ 7=
"L (7h-) 274 m
BIFLES 690 WP+ ;
"L (7h-) 1,425 m
HIFLEE ¢ 90 A ;
TUR=ERAA N L RELE - F A - B - A - SRR AL (T-) 75 N
VAVUISEDN 35 m3
=0 e 1 =
5 (7/h-) 1 =
HEKHEY) T Y 1 64, 572
HEAK L = 1 64,572 | 15EKE 12 m
T K HERR T Y 1 40, 998, 576
HEHEARR =) T = 1 19,799,891 |& =)V 581 m
o
RILE 581 m

E bzl P E IR




il
W
>
%
I

THEL | A6 FEAEE « RPIE R TET XA R T

TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
STK400 ;
K=Yy IR 1 X
HEHEARE =) T = 1 2,165,945 |K =) 21 m
wEt;
w =)y 26 m
/e =g
RALE 47 m
SGP8OA ;
K=Yy IR 1 X
ERFET 2 1 11,435, 770 | SEKH-HEH! 17 m
¢ 3.5m ;
JEE ARV )=} 9 m3
15
EREZAN 2 m3
15
ERFET X 1 6,377,890 |£E/KFHHEHI 10 m
¢ 3.5m ;
JEE ARV )=} 9 m3
15
EREZAN 2 m3
15
PEAMLEL T = 1 1,219,080 |18-8Ea/)-} 50 m2
SN 4 m
HEE L = 1 287, 960
e LT it 1 203,200 | v7)-MHEXEY U L 20 m3
IEFHEEY |
TR AL T = 1 84,760 |BGEME 20 m3
av ) -bik (BER5)
By 20 m3
av ) -bak (BERR)
% T = 1 15, 898, 740
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V-V L F2y 14, 369, 740
AZIEE P =X 1, 529, 000
[P % X 146, 889, 351
Hm IR E 2V 16, 437, 650
e Tre: 2V 2,178, 650

i 2 2V 804, 850 | fikt¥ 500 m2

ARARE LS H 1 X

Bl s 2V 58,800 |EBEMERRFEAT ~HERLE 1 E20
BUGBREIUEL (REH L) 2V 1, 315, 000
sty (R L) 2V 14, 259, 000
i T X 163, 327, 001
TR e gL 2V 49, 731, 000
T AT X 213, 058, 001
— i PR 2V 33,011, 999
N 2V 246, 070, 000
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